d?c / d N d p" [pbiGeV]

Ratio to ATLAS

=
<
[I

[
S

=
o
@

-
S
N

0.5

0

13000 G

ATLAS i e
; Herwig++ 27\\1¢ELQfau|‘t
--f3-- Herwig 7.2.1 defa\Lth'*\\\~ \
—— Pythia 8.308 default
--¥-- Pythia 8.308 vincia-default
----- ¢ Sherpa 2.2.5 default

ev pp

N

P

top
T

X.
SN
<X .
~ SN te
SX. .
SN

(ATLAS semileptonic ttbar)

|| |||||TF=='

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

- 1,
I H\;/ 1 i
— __ | 05
| ) | ) | | | _I.....I.....l..‘.l | | | | | | | | | | | | | | |
500 1000 1500 000

2
pfl’_had [GEV], Nextra jet >3



	Contents
	Page 1


